

# **Renewal Quote**

Prepared By Mary Kate Lyons Bill To Mountain View-Whisman School District

**Phone** (929) 274-3409 **Date** 17-May-2023

Email marykate@literably.com Term (Years) 1

Quote For Mountain View Whisman School District Renewal 2023-2024 Service Terms July 1, 2023 - June 30, 2024

Current	Current Product Type Description (click here for more details/visuals)
Product Type	
A-G	A-Z: assessment levels A-Z are graded for 2 minutes.
	<ul> <li>A-G: assessment levels A-G are graded for 2 minutes and H-Z for 1 minute.</li> </ul>
	<ul> <li>Custom: product type varies (typically assessment levels A-Z are graded for 1 minute).</li> </ul>

Product	Quantity	Standard Price	Your Price	Total Price
3 rounds, Grade 8, English Fluency	40	\$7.99	\$6.50	\$260.00
3 rounds, Grade 7, English Fluency	45	\$7.99	\$6.50	\$292.50
3 rounds, Grade 6, English Fluency	70	\$7.99	\$6.50	\$455.00
2 rounds, Grade K, English Fluency	507	\$7.00	\$6.25	\$3,168.75
3 rounds, Grade 1, English Fluency	499	\$7.99	\$6.50	\$3,243.50
3 rounds, Grade 3, English Fluency	517	\$7.99	\$6.50	\$3,360.50
3 rounds, Grade 5, English Fluency	519	\$7.99	\$6.50	\$3,373.50
3 rounds, Grade 4, English Fluency	543	\$7.99	\$6.50	\$3,529.50
3 rounds, Grade 2, English Fluency	552	\$7.99	\$6.50	\$3,588.00

Annual Software Subscription Price: \$21,271.25

Grand Total (adjusted for duration): \$21,271.25

To adjust the product type, number of licenses, type(s) of licenses, or number of years in the contract term, send an email to your Customer Success Manager or orders@literably.com - and we will send a new quote.

Please also email purchase orders to orders@literably.com. We will reply with an invoice referencing the PO number. If a PO is unnecessary, we will invoice for card payment. Invoices for card payment will only be sent once a sales order has been signed.

#### Notes:

- Literably's W-9 can be found at: https://literably-files.s3.amazonaws.com/W9\_Literably.pdf.
- Payment terms are net-30.
- Prices may be changed without notice.
- All quotes are in U.S. dollars.
- Discounts are available for prepaid multi-year contracts.
- For customers on a Northern Hemisphere calendar, all subscriptions expire on July 31. For customers on a Southern Hemisphere calendar, all subscriptions expire on December 31.
- Purchase order or payment in full must be received by the expiration date to avoid interruption in services.
- Issuance of a purchase order or payment pursuant to this Quote shall indicate the customer has read and agrees to be bound by Literably's Terms of Service, available at https://literably.com/terms.

## We can accept payment by:

Check:

Literably, Inc Dept Ch 17770 Palatine IL, 60055-7770 Card:

Credit card invoices available. Please contact support@literably.com for more information.



# Literably, Inc. ("Literably")

Literably, Inc.	
Contact Name	Mary Kate Lyons
Phone Number	(929) 274-3409
Email	marykate@literably.com
Email for POs	orders@literably.com
Address for Checks	Literably, Inc Dept Ch 17770 Palatine IL, 60055-7770

## Mountain View Whisman School District Renewal 2023-2024 ("Customer")

	,
Customer Name	Mountain View Whisman
	School District Renewal
	2023-2024
Contact Name	Swati Dagar
Phone Number	650-526-3500
Email	sdagar@mvwsd.org
Address	
1	

<b>Product Description</b>	Type	Quantity	Sales Price	<b>Total Cost</b>
3 rounds, Grade 8, English Fluency	Software	40	\$6.50	\$260.00
3 rounds, Grade 7, English Fluency	Software	45	\$6.50	\$292.50
3 rounds, Grade 6, English Fluency	Software	70	\$6.50	\$455.00
2 rounds, Grade K, English Fluency	Software	507	\$6.25	\$3,168.75
3 rounds, Grade 1, English Fluency	Software	499	\$6.50	\$3,243.50
3 rounds, Grade 3, English Fluency	Software	517	\$6.50	\$3,360.50
3 rounds, Grade 5, English Fluency	Software	519	\$6.50	\$3,373.50
3 rounds, Grade 4, English Fluency	Software	543	\$6.50	\$3,529.50
3 rounds, Grade 2, English Fluency	Software	552	\$6.50	\$3,588.00

**Service Term**: July 1, 2023 to June 30, 2024.

**Total Pretax:** \$21,271.25. **After Applicable Tax:** \$21,271.25.

This Sales Order is made by and between Literably, Inc. and Customer listed above as of the date of the last signature below. By entering into this Sales Order, the Customer represents and warrants that it has read and hereby agrees to be bound by the Literably Terms of Service available at https://literably.com/terms, which is hereby incorporated by reference. In the event of an actual conflict between this Sales Order and the Literably Terms of Service, the terms and conditions of this Sales Order shall govern, but only to the extent it expressly modifies a term of the Literably Terms of Service. All capitalized terms not defined in this Sales Order have the meaning given in the Literably Terms of Service.

The initial payment shall be due on the start date of the Service Term and each subsequent payment shall be due on the day following the end date of the Service Term. In the event that any payment is more than thirty (30) days late, Literably shall have the right to suspend Customer's access to the Service until all payments are made current. Customer shall pay for all costs incurred by Literably in connection with the collection of late payments.

The non-breaching party may terminate this Sales Order: (a) at any time with written notice to the other party in the event of a material breach of this Sales Order or Literably's Terms of Service by the other party, which remains uncured within five (5) days of receipt of written notice thereof; or (b) immediately upon receipt of written notice if the other party: (i) ceases to do business in the normal course; (ii) becomes or is declared insolvent or bankrupt; (iii) is the subject of any proceeding related to its liquidation or insolvency (whether voluntary or involuntary) which is not dismissed within thirty (30) calendar days; or (iv)



### SALES ORDER

makes an assignment for the benefit of creditors outside the ordinary course of business. If Literably terminates this Sales Order for Customer's breach as listed in this Sales Order or a breach of the Literably Terms of Service, Customer will be liable for all charges and expenses in relation to products and services ordered hereunder. If Customer terminates this Sales Order for Literably's material breach of this Sales Order, Customer shall be entitled to a pro rata refund of any prepaid fees applicable to the portion of the Services unused at the time of termination.

This Sales Order is effective as of the date of the last signature below and will remain in effect until the end of the Service Term unless earlier terminated in accordance with this Sales Order or the Terms of Service; *provided that*, if after the expiration or termination of this Sales Order the Customer makes payment of the fees under this Sales Order for the products purchased under this Sales Order and Literably accepts such payment, this Sales Order will be renewed as of the date Literably accepts payment for a period of time equal in length to the Service Term identified in this Sales Order. The foregoing renewal provision shall only apply to a renewal of all products under this Sales Order and not to any partial renewals.

This Sales Order may be amended only by a written instrument signed by the authorized representative of both parties. By accepting this Sales Order, you agree that you are an authorized representative of the Customer with the authority to bind the Customer to the terms herein and in the Literably Terms of Service.

This Sales Order and the Literably Terms of Service are the entire agreement between the parties with respect to its subject matter and supersedes all prior agreements and understandings between the parties, written or oral, with respect to the same.

## LITERABLY, INC.

#### **CUSTOMER**

By: {{\_es\_signer1\_signature}}

Name: {{\_es\_signer2\_signature}}

Name: {{\_es\_signer2\_fullname}}

Title: {{\_es\_signer1\_title}}

Date: {{\_es\_signer2\_title}}

Date: {{\_es\_signer2\_date}}